KHAITAN POWER

EXPECT THE BEST

KI SMS 12
12" SLIDING MITER SAW

EXPLOSION VIEW



B[ UTaR I E sl S

KHAITAN POWER

EXPECT THE BEST

SPARE PARTS LIST OF KI SMS 12

Part
No.

description

description

description

Cross recessed pan head tapping
screw ST4. 2X14 (black)

Height adjustment knob(black) with
M5x55 screw

Bevel angle scale indicator(clear
with a red line)

Housing label

Inner hexagon screw M6X20 (black)

Bearing support (black)

Motor back cover

Nut M6 (Zincing)

Carbon brush cap

Height adjustment nut(black)

Linear rod support bracket lock
knob (light grey)

Carbon brush assembly

Laser label

Linear rod support bracket lock
handle spring(black)

Carbon brush holder assembly

Spring wheel (in black)

Linear rod support bracket lock
handle (dark grey)

Inner hexagon screw M4X6 (black)

Step screw(black)

Nut M10(7mm with zincing)

Cross recessed pan head screw
M5X35 (zincing)

Cross recessed pan head screw
M5X16 (zincing)

Pivot pin for linear rod support
bracket (black)

Spring washer 5(zincing)

Handle assembly

Flat washer D10 & 10x & 20x2(zincing)

Friction washer (black)

Flat washer 5(zincing) 5x 10x1

Label

Cross recessed pan head screw
M5X45 (zincing)

Linear rod support bracket arm

Bevel angle lock pin(black)

Motor housing

Cross recessed pan head tapping
screw ST4. 2X16 (black)

Inner hexagon screw M8X45(black)

Flat washer D8(black)

Rubber bearing support (NBR)

Top Handle overmold

Angle of labeling

Bearing (6000-22)

Transformer

Inner hexagon screw M5X20 (black)

Inner hexagon screw M8X30(zincing)

Field assembly

Cord clamp

Nut M8(zincing)

Field connecting wire (18AWG)

Inductor

Table pivot bracket

Flat washer 5(black) ¢ 5x¢ 10x1

Cross recessed pan head tapping
screw ST4. 8X70 (black)

Plug 2x1.0 with wire clamp, 3m rubber
cable

Slotted plate

Turning table

Laser and LED connecting line
24AWGx2

Cross recessed countersunk head
screw M4X10(zincing)

Baffle(in black)

Cord sleeve(in black)

Armature assembly

Terminal block (two)

Pin on the table lock handle
¢2. 5X16 (zincing)

Bearing (6202-2RS)

Terminal block (three)

Locking cam(black)

Cam pin(black)

Spindle lock knob(in black)

Capacitance

Turning table lock handle plate

Spindle lock plate(zincing)

Laser switch

Turning table lock handle

LED switch

Spring washer 5(black)

Spindle lock pin 45#(black and
quench)

Lower handle overmold

Working light transparent cover

Cross recessed pan head screw
M5X10 (black)

Spindle lock spring(65Mn)

Working light

Inner hexagon screw M6X20 (black)

Cross recessed countersunk head
screw M4X8(zincing)

Switch trigger(light grey)

Spring washer D6 (black)

Upper guard(silver)

Connecting wire A inside
handle (18AWG white)

Flat washer D6 (black)

Base screw (black)

Bearing (HK1016)

Connecting wire B inside
handle (18AWG brown)

Fence

Base

Bull gear (black)

Loose—proof nut M12(zincing)

Fence Label

Shaft Circlips 14

Flat washer D12(zincing) ¢ 10x & 24x2

Base warning Label

Sleeve (black)

Wave washer 12 (black)

Flat key 5X12 (black)

Torsion spring(black)

Base Scale label

Output shaft

Height adjustment step screw(black)

Left extension bar

Height adjustment plate (zincing)

Balancing pole

Hole circlip 40 (black)

Wave washer 6(black)

Bearing (6203-2RS)

Hexagon screw M6X20 (zincing)

Right extension bar

Top cover

Spring washer D6 (zincing)

Miter lock spring lever (black)

Flat washer D6(zincing)

Miter lock plate(black)

Cross recessed countersunk head
screw M5X16( black with thread

Bracket stop pin

Steel ball in 8mm diameter

Bracket for upper guard

Miter lock spring(black)

lli‘f%%ré5x7 (Zincing)

0 washer 4.5+%8. 1%1.8 (rubber)

Loose—proof nut M8(zincing)

Plastic Lower guard

Bevel lock pin cap(in black)

Miter lock middle lever(black)

AL blade guard

Bumper (in black)

Miter lock front lever(black)

Torsion spring sleeve(in black)

Miter lock middle plate(black)

Lower guard spring(black)

Lever screw(black)

Inner hexagon screw M8X10 (black)

Shaft Circlips 45

Pivot pin for upper guard(black)

Turning table locking screw(black)

Shaft sleeve(in black)

Inner hexagon screw M5X6(black with
thread locker)

Cross recessed pan head screw
M4X10 (zincing)

Inner flange (black)

Laser set B

Blade

Laser

Turning table angle scale
indicator(clear with a red line)

Laser set A

Flat washer D10 & 10x & 14x1(zincing)

Outer flange (black)

Laser transparent plate

Miter lock front plate(black)

Flange screw(black)

Inner hexagon screw M5X20 (zincing)

Miter lock back lever (black)

Lower guard rolling wheel (in black)

Laser support C(black)

Spring pin 04x25(black)

Flat washer 3(¢3X¢10X1)

Cross recessed pan head tapping
screw ST3X8 (black)

Balancing Foot (light grey)

Blade cover warining label

Winding support (black)

Cross recessed pan head screw
M6X35 (zincing)

LED support (black)

Flat washer D4 (zincing)

Allen wrench M8

Spring washer D4 (zincing)

Working clamp knob(light grey)

LED viewfinder (chrome plating)

LED lamp

Cross recessed pan head screw
M4X8 (zincing)

Working clamp arm(dark grey)

Spring pin 03x16 (black)

LED glazing(clear)

Lower guard back cover locating
screw (black)

Working clamp rod(zincing)

Working clamp plate (black)

Cross recessed pan head screw
M5X40 (zincing)

Lower guard cover rivet(black)

Butterfly screw(assembly)

Working clamp sliding rod(black)

Lower guard cover on right

Cord quoit

Upper guard self-lock spring(black)

Lower guard cover on left

Flat washer 5 (  ¢5X¢9X0.8 )

Lower guard lever (black)

Flat washer 4 (  ¢5X¢10X1 )

Safety lock handle(in black)

Lower guard cover step screw(black)

Wrench holder

Loose—proof nut M5(zincing)

Lever locating screw(black)

Cross recessed pan head screw M5X8

Safety lock support(zincing)

Lower guard cover lever (black)

Butterfly screw

Lower guard lever rivet(black)

Sliding fence

Cross recessed pan head screw
M5X10 (zincing)

Linear rod support bracket

Fence left label

Cross rec sed pan head screw
M5X14 (zincing)

Cross recessed countersunk head
screw M5X10 (black)

Fence right label

connector

Bearing cover (black)

LOGO Label

Handle connecter

Bearing (standard with 25X¢40X¢30)

Turning table label

Dust bag

Linear rod stop knob (black)

Label

Linear rod

Pin 2. 5X16




